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* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Q.1 A train is moving with the speed of 90 km/h. How many meters will it cover in 15 min?
Ans  of 1. 22500

X 2. 24500

X 3. 21500

X 4. 23500

Question ID : 9489113762
Option 11D : 94891115046
Option 2 1D : 94891115048
Option 3 1D : 94891115045
Option 4 1D : 94891115047
Status : Answered
Chosen Option: 1




Q2 Find the median and the mode of the following data:

Ans

23,5, 72,3, 3,5, 7 and 9.

2513, 3
v2 4,3
K3 4,4
X4 3.4

Question ID :
Option 11D :
Option 21D :

9489113772
94891115087
94891115086

Option 31D : 94891115088
Option 41D : 94891115085

Status :
Chosen Option :

Answered
1

Q.3  The ratio of the length to the breath of a rectangular field is 6 : 5. If the breath is 25 m less than the length,

the perimeter of the field is:

Ans  of 1. 550 m
X 2 540 m
X 3 530m
& 4. 560 m

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113765
94891115059
94891115058
94891115057
94891115060
Answered

1

Q4 Which one of the following Committees in India is related to Tax reforms?

Ans X 1. Meera Seth Committee
/5 2. Ghosh Committee
« 2 Raja Chelliah Committee

/5 4 Anand Sinha Committee

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

9489114842

94891119367
94891119365
94891119368
94891119366

Not Attempted and
Marked For Review




03 e FIUT BT Teo SRT FTRUE=TT Gase I A

Ans X 1.

SA=AFET (North-Eastern) T=r a1 #f&amaa @gsmel ada.

X2 & 2 3R, 2015 ST, G& FO0AE H.

v 3

J FETE FEoOY 3fSe @ HUITErS! & HOATT ATe g

X 4 T Ferd FHUT ARTHE HTE.

Question ID : 9489114804
Option 11D : 94891119215
Option 2 ID : 94891119214
Option 31D : 94891119213
Option 4 ID : 94891119216
Status : Answered
Chosen Option : 3
Q.6 select the number that can replace the question mark (?) in the following series.
1,5,32,288"7
Ans X 1. 2879
v 2 3413
X 3 2754
X 44329
Question ID : 9489114686
Option 11D : 94891118744
Option 21D : 94891118743
Option 31D : 94891118742
Option 41D : 94891118741
Status : Not Attempted and

" Marked For Review
Chosen Option :

Q7 The sum of the place values of 3 in 3636 is:

Ans  of 1. 3030
X 2 330
K33
X 4. 3003

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113745
94891114980
94891114978
94891114977
94891114979
Answered

1




Q.8 e faune anfSr Gy wargde arn. Rl Reeh wfgch FEamRer w9 argftudysT de
rEel Al O e AT I TEIT e oY WeeEeT S e Rl aheea sed § st

Ans

fram:

1.\ arek frerem amgd.

2. FEr Teredr e M4,
3. T ferear g=aT A
s

1. T T 3w S

2. T 3T QAT A

X 1. 9z ey 1 gogea g,

v 2 fasemy 1 37fOT 2 @il Tehgl eI aATel.

X 3 Fas Ay 2 THhaed HE.
X4 fFsmg 1 3707 2 Sleel dehaed e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114680

94891118717
94891118720
94891118718
94891118719
Not Answered

Q.9  Which among the following Articles of the Indian Constitution deals with financial emergency?

Ans

X 1. Article-260
X 2 Article-460
W 3. Article-360
X 4 Article-160

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114839
94891119353
94891119354
94891119355
94891119356
Answered

3




Q10 Which of the following statements is correct about black soil?

Ans  of 1. Tt covers most of the Deccan Plateau.

75 2. Tt is the least fertile of all soil types.
/< 3. It covers most of the North Indian Gangetic Plain.

/< 4 Black soils are rich in phosphorus, nitrogen.

Question ID : 9489114822
Option 11D : 94891119285
Option 2 ID : 94891119288
Option 31D : 94891119286
Option 4 ID : 94891119287
Status : Answered
Chosen Option: 1

Q11 3504 0f 35% of X = % of X
Ans  of 1. 12.25

X 2 0.1225

< 3 0.01225

X 4 1225

Question ID : 9489113754

Option 11D : 94891115016
Option 2 1D : 94891115014
Option 31D : 94891115013
Option 4 ID : 94891115015

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.12 If 24 persons can complete a task in 5 days, in how many days, 6 persons would be able to complete it?
ans X' 1.22

X 218

X316

v 4 20

Question ID : 9489113761
Option 11D : 94891115044
Option 2 1D : 94891115042
Option 31D : 94891115041
Option 4 1D : 94891115043
Status : Answered
Chosen Option : 4




1 3 4 5
HEF of =, = .z and =15
3 4 5 6
Ans ) 1
s
6
1
v _—
60
1
3=
360
1
4, ..
30
Question ID : 9489113747
Option 11D : 94891114988
Option 2 ID : 94891114987
Option 31D : 94891114986
Option 4 ID : 94891114985
Status : Answered
Chosen Option : 2
Q.14 Ina certain code language, C is written as 24 and O is written as 12. How will COLONY be written as in that language?
Ans X 1. 24121612132
X 2 24121412132
X 3 24121312132
v 4 24121512132
Question ID : 9489114676
Option 11D : 94891118703
Option 2 ID : 94891118701
Option 31D : 94891118704
Option 4 ID : 94891118702
Status : Answered
Chosen Option : 4
Q.15 Who among the following calculated per capita income of India in 1867 and published in his book ‘Poverty and Un-
British Rule of India’?
Ans X 1. Sir Arthur Cotton
« 2. Dadabhai Naoroji
< 3. Motilal Nehru
X 4 Lord Comwallis
Question ID : 9489114806
Option 11D : 94891119222
Option 2 ID : 94891119221
Option 31D : 94891119224
Option 4 ID : 94891119223
Status : Answered
Chosen Option : 2




Q.16 Mandatorily, the government announces Minimum Support Prices (MSP) for how many crops?

Ans

K18
v 2 22
X3 17
X434

Question ID :
194891119361
194891119363
194891119362
194891119364

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status :

Chosen Option :

9489114841

Not Attempted and
Marked For Review

Q.17 Frefeddr FIUET T ANET decaee FWSTATE (six schools of Indian philosophy) T& #TeT 3M&?

Ans
1.
XK1
X 2 3 fEae®
v 5 gr
X4 g
Question ID : 9489114808
Option 11D : 94891119230
Option 2 ID : 94891119229
Option 31D : 94891119232
Option 4 ID : 94891119231
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.18 v FoTERT 10% T%are === 2 9 HEdmmdr 316,000 @ s FEEE &9 (fixed deposit) &=l ST
=TS AGATH 3, T [T HEAAAT caTell ohell Tha (2 Al Toeser?
Ans  31.19,445.1
v 2 19,4481
< 3 19,4461
/< 4194471

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113760

94891115037
94891115040
94891115038
94891115039
Not Answered




Q19 Which metal is used in the making of microchips?

Ans X 1. Steel
/< 2. Tungsten
v 3. Silicon
& 4 Duralumin

Question ID : 9489114812
Option 11D : 94891119245
Option 2 ID : 94891119247
Option 31D : 94891119246
Option 4 ID : 94891119248
Status : Answered
Chosen Option: 3

Q.20 The Shalimar Gardens located in Lahore and Kashmir are architectures of the
Ans X1 British

A 2. Delhi Sultanate

& 3. Sikhs

« 4 Mughals

Question ID : 9489114809
Option 11D : 94891119234
Option 2 ID : 94891119235
Option 31D : 94891119236
Option 4 ID : 94891119233
Status : Answered
Chosen Option: 4

Q21 yWhich of the following is a component of Central Processing Unit?
Ans X 1. Keyboard
+ 2. Memory

/< 3. Monitor
< 4. Mouse

Question ID : 9489114837
Option 11D : 94891119347
Option 2 ID : 94891119346
Option 31D : 94891119348
Option 4 ID : 94891119345
Status : Answered
Chosen Option : 2




Q.22 The ratio of the area of an equilateral triangle of side x to the area of a square of side X is:

e X143 08
V243 :4
X343 :1
X443 .2
Question ID : 9489113764
Option 11D : 94891115055
Option 2 ID : 94891115054
Option 31D : 94891115056
Option 4 ID : 94891115053
Status : Not Answered
Chosen Option : --
Q.23 4 . S i . . .
When x* +xX°* —x“+x + 1 is divided by X - 3, the remainder is:
Ans X 1. 104
X 2 105
X 3. 106
v 4 103
Question ID : 9489113767
Option 11D : 94891115066
Option 2 ID : 94891115067
Option 31D : 94891115068
Option 4 ID : 94891115065
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.24 Which of the following represents the correct order of occurrence of the layers of the atmosphere, starting from the

Ans

surface of the earth?

X

Troposphere - Mesosphere - Stratosphere - ITonosphere - Exosphere

X 2

Troposphere — Stratosphere - Ionosphere — Mesosphere - Exosphere

53

Troposphere — Stratosphere - Exosphere - [onosphere - Mesosphere

v

Troposphere — Stratosphere - Mesosphere - Ionosphere - Exosphere

Question ID
Option 11D
Option 2 ID
Option 31D :
Option 4 ID
Status

Chosen Option :

1 9489114824
1 94891119294
1 94891119295

94891119296

194891119293
: Answered

4




Q.25 The price of tea has been reduced by 20%. In order to restore the original price, the new price must be increased by:

Ans X1 3594

v 2 25%
X3 20%
X 4. 30%
Question ID : 9489113758
Option 11D : 94891115032
Option 2 1D : 94891115030
Option 31D : 94891115029
Option 4 ID : 94891115031
Status : Answered
Chosen Option : 2
Q.26 as per 13" Edition of “Handbook on Fisheries Statistics™, which state of India is the largest producer of marine fish?
Ans o 1. Gujarat
X 2. Andhra Pradesh
X 3. Kerala
/< 4 West Bengal
Question ID : 9489114825
Option 11D : 94891119297
Option 21D : 94891119300
Option 31D : 94891119298
Option 41D : 94891119299
Status : Answered
Chosen Option : 2
Q.27 Select the option that is related to the fourth term in the same way as the first term is related to the second term.
Seed : Fruit :: ? : Paper
Ans X1 Tron
< 2. Plastic
X 3. Grease
v 4 Wood
Question ID : 9489114674
Option 11D : 94891118696
Option 2 1D : 94891118693
Option 31D : 94891118694
Option 4 ID : 94891118695
Status : Answered
Chosen Option: 4




Q28 Who invented the small pox vaccine?

Ans X 1. James Chadwick
& 2. D Rutherford
v 3. Edward Jenner
< 4 Louis Pasteur

Question ID : 9489114831
Option 11D : 94891119321
Option 2 ID : 94891119324
Option 31D : 94891119323
Option 4 ID : 94891119322
Status : Answered
Chosen Option : 3
Q.29 Ten years ago, X was 5 years old and his age was half of the age of Y. At that time, Z was § years younger than his
brother P. Z was 18 years old at that time. What is the ratio of the respective ages of Z and P at present?
Ans X1 14: 19
v27:9
K3 4:5
X49:7
Question ID : 9489114698
Option 11D : 94891118789
Option 2 ID : 94891118792
Option 31D : 94891118790
Option 4 ID : 94891118791
Status : Answered
Chosen Option : 2
Q.30 A vendor sells 10 oranges for Z1 and gains 30%. How many oranges did he buy for Z1?
Ans x 1. 9
X27
V'3 13
X411
Question ID : 9489113759
Option 11D : 94891115034
Option 2 ID : 94891115033
Option 31D : 94891115035
Option 4 ID : 94891115036
Status : Not Answered
Chosen Option : --




Q31 T Afgor MW FoeT A, Hige FgUTST "8 AT WE-A=aT Hoirear Her=aT

ARl 3% AR @% T AfgeRr Tea=w geiRh Ao A e

Ans ?(1- 3__"%_

X2 It
X 3. ATIA/ATHY HTca/FTH

Vo 3 3mg

Question ID : 9489114679
Option 11D : 94891118713
Option 2 1D : 94891118715
Option 31D : 94891118716
Option 4 ID : 94891118714
Status : Answered
Chosen Option : 3
Q32 The magnitude of an earthquake is measured in/on
Ans X 1. Kilogram
X 2 Pascal
& 3. Bar
« 4 the Richter Scale
Question ID : 9489114830
Option 11D : 94891119320
Option 2 ID : 94891119317
Option 31D : 94891119318
Option 4 ID : 94891119319
Status : Answered
Chosen Option : 4
Q33 Zoreer 10T ST (paddy) TR WIREThT HIUTET AT Scaferd HATa?
Ans x
1. AT
X 2 fgeiTs
X3 afease
v YT
Question ID : 9489114811
Option 11D : 94891119242
Option 2 ID : 94891119244
Option 31D : 94891119241
Option 4 ID : 94891119243
Status : Answered

Chosen Option : 4




Q34 gplve the following.

B.75 X B.Th—135625 7T I X T.7h =2

Ans X1 2
X2 3
vl
X4
Question ID : 9489113751
Option 11D : 94891115003
Option 21D : 94891115002
Option 3 ID : 94891115004
Option 41D : 94891115001
Status : Answered
Chosen Option : 3
Q.35 ; 5
GTelleTeh! VT T Fgecaqul T foreT Hoe H18?
Ans
X 1. #giFeraraH ( Nucleosome)
v 2 sTErsiT ( Estrogen)
S
X 3. TEEIEA (Testosterone)
X 4 FrAfET ( Chromatin)
Question ID : 9489114814
Option 11D : 94891119255
Option 2 ID : 94891119253
Option 3 ID : 94891119254
Option 4 ID : 94891119256
Status - Not Attempted and

" Marked For Review

Chosen Option :

Q.36 Who chaired the commission that drafted the Indian Penal code which was enacted in 1860?

Ans X 1. Lord Hardinge
+ 2. Lord Macauly
/< 3. Lord Linlithgow
& 4 Lord Curzon

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114817
94891119267
94891119266
94891119268
94891119265
Answered

2




Q37 grefrerddr For et @ gEer=ar (Aurora Borealis) TEs TR A?

Ans x 1.
& e RYEgedTr (equatorial) Feue fewe I
v
ar gdr=ar Jmerena EHURT gex Aufe werer .
y
QA=A AAEIUTS AT ScHAATHS YIFHer ( Auroras) fAHTOT g
y 8
TH WI3YT TMScH (Southern lights) 30ET FEUTard.
Question ID : 9489114823
Option 11D : 94891119291
Option 2 1D : 94891119290
Option 3 1D : 94891119292
Option 41D : 94891119289
Status : Not Answered
Chosen Option : --
Q.38 y L : - - L
The value of x satisfying the equation x* +a“ = (b—x)° is:
A
ns «‘] bz = az
2b
b? + a?
X 2.
2b
b? —a?
X s
2a
a?— b?
X 4
2b
Question ID : 9489113766
Option 11D : 94891115061
Option 2 ID : 94891115063
Option 3 ID : 94891115064
Option 41D : 94891115062
. Not Attempted and
Status - Marked For Review
Chosen Option : --




Q.39 With reference to the Rajva Sabha, which of the following statement is correct?

Ans

/< 1. Tt is a directly elected body like Lok Sabha.
75 2. The term of Rajya Sabha is six vears.
/< 3. Rajva Sabha is the lower house of parliament.

+ 4 The Rajva Sabha is never dissolved.

Question ID : 9489114827
Option 11D : 94891119306
Option 2 ID : 94891119307
Option 3 ID : 94891119305
Option 4 ID : 94891119308
Status : Answered
Chosen Option : 4
Q40 gy FART T Fod T AFAT Fo . =T 329 FT 2
=]
Ans y x
V' cgrer Fre-gfaEus ST
& 2 TOTET WISIUT FrenadT Jretaur
X 5. TITell GEehlas-Hiaaedesh qeATaur
X 4. T T GUROT
Question ID : 9489114833
Option 11D : 94891119330
Option 2 ID : 94891119329
Option 31D : 94891119331
Option 4 ID : 94891119332
Status : Not Answered
Chosen Option : --
Q41 Simplify the following.
1 (5 3 )
L 3 25
Ans X 1. 0
X2 2
<33
vl
Question ID : 9489113748
Option 11D : 94891114992
Option 2 ID : 94891114990
Option 3 ID : 94891114989
Option 4 1D : 94891114991
Status : Answered

Chosen Option: 4




Q.42 Select the option that can replace the question mark (?) in the following series.

LB. MC, 7, 0G, PK
Ans X1_N1:'

v 2 NE

< 3. ND

X 4 NI

Question ID : 9489114688

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891118751
94891118750
94891118752
94891118749
Answered

3

M gl (Switzerland) T FUTET T HR?
Ans X 1. U (The Urals)

X 2. Fieperd @Y (Caucasus peaks)
W 3 3Te=F (The Alps)
X 4 9ol (Pyrenees)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

9489114826

94891119301
94891119303
94891119302
94891119304

Not Attempted and
Marked For Review




Q.44 15 men or 25 women can reap a field in 22 days. How many days will 9 men and 18 women take to reap it?

Ans

2
2. it
> 153

2
y R =
3

V5 162
3
X1 182
3
Question ID : 9489113763
Option 11D : 94891115051
Option 2 ID : 94891115049
Option 31D : 94891115050
Option 4 1D : 94891115052
Status : Answered
Chosen Option: 3
Q.45 There are eight persons, i.e. A, B, C. D, E, F. G and H are sitting around a rectangular table. Four of the eight are sitting
on four corners of the table facing opposite to the center while those who are sitting on the sides are facing the center. B
is sitting at one of the corners. There are two people between A and B. G is sitting on one of the smaller sides with E as
his left neighbour. D is sitting second to the right of A. C and F are neighbours of A. There are two persons between H
and C to the right of H. Who is sitting at the second place to the right of B?
Ans X 1. D
X2cC
V3 F
X4 G
Question ID : 9489114700
Option 11D : 94891118800
Option 2 ID : 94891118799
Option 31D : 94891118798
Option 4 ID : 94891118797
Status - Not Attempted and

Chosen Option :

Marked For Review




Q.46 Which of the following countries is a permanent member of the United Nations Security Council?

Ans 1. Germany

' 2. France
/< 3. Ttaly
/< 4. Japan
Question ID : 9489114835
Option 11D : 94891119340
Option 2 ID : 94891119339
Option 31D : 94891119338
Option 4 ID : 94891119337
Status : Answered
Chosen Option : 4
Q.47 One of the mission under the National Action Plan for Climate Change (NAPCC) published by Govt. of India in 2008
is:
Ans ( 1
National Mission for Sustaining the Himalayan Ecosystem
< 2. National Sustainable Mission
< 3. National Milk Mission
/< 4. National Mission for Agriculture
Question ID : 9489114834
Option 11D : 94891119334
Option 2 ID : 94891119333
Option 31D : 94891119336
Option 4 ID : 94891119335
Status : Not Answered
Chosen Option : --
.48 . P |
048 (41% +43%%) s divisible by:
Ans x 1. 74
v 2 84
X312
X 4 86
Question ID : 9489113749
Option 11D : 94891114993
Option 21D : 94891114994
Option 31D : 94891114996
Option 4 1D : 94891114995
Status - Not Attempted and

Chosen Option :

Marked For Review




Q49 The Arjuna Award is given in the area of:
Ans  of 1. Sports

# 2 Entertainment

/< 3. Literature

X+ Military

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

1 9489114807
194891119226
1 94891119227
194891119225
194891119228
: Answered
Chosen Option :

1

Q.50 Which of the following features provided by the constitution of India is related to ‘Indian Judiciary®?

Ans

/< 1. Supremacy of judiciary

+ 2. Judicial independence

/< 3. Each state has its own high court
7< 4. Judges of high courts are elected

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114829
94891119313
94891119314
94891119315
94891119316
Answered

2

Q51 Find the difference of the place and face values of 6 in 516372.

Ans X 1. 6698
X 2 5304
X 3. 5998
v 2 5994

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113746
94891114983
94891114984
94891114982
94891114981
Answered

4




Q.52 Consider the given statements and decide which of the given assumptions is/are implicit in the statement.
Statement:
“Besides cricket, Indian Government should also promote other games™.
Assumptions:
1. Cricket is world’s most famous game.
II. Cricket receives the maximum support from the Indian Government

Ans

/< 1. Neither I nor II is implicit.

' 2. Only assumption II is implieit.
/< 3. Only assumption I is implicit.
/< 4 Both I and II are implicit.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114681
94891118724
94891118722
94891118721
94891118723
Answered

1

@53 Ppanch Mahal built by Akbar is located in

Ans X 1. Agra
X 2. Delhi
« 3. Fatehpur Sikri

< 4 Ajmer

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

9489114810
94891119239
94891119237
94891119238
94891119240
Answered

3




Q54 The award given to the coaches of sports and games in India is:

Ans

+ 1. Dronacharya Award

X 2 Vir Chakra
/< 3. Arjuna Award

< 4. Golden Boot

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

1 9489114805
194891119219
194891119220
194891119217
194891119218
: Answered
Chosen Option :

1

Q55 1fsinB® —cos® = 0, and 0 <0 < 90°, then the value of sin8 + cos 8 is:

Ans JT ﬁ

X2 242
X
V2
1
X4 —
V2
Question ID : 9489113770
Option 11D : 94891115078
Option 2 ID : 94891115079
Option 31D : 94891115080
Option 4 ID : 94891115077
Status : Answered
Chosen Option : 2
Q.56 Among the following, name the software components of a computer?
Ans - X 1. CMOS

X 2. CPU

/< 3. Memory

+ 4 Programs
Question ID : 9489114838
Option 11D : 94891119352
Option 2 ID : 94891119351
Option 3 ID : 94891119350
Option 4 ID : 94891119349

Status : Answered
Chosen Option : 4




Q.57

Which scientist invented the Periodic table?

Ans X 1. Ernest Rutherford
/< 2. Dalton
' 3 Dmitri Mendeleev
< 4 Newton
Question ID : 9489114813
Option 11D : 94891119252
Option 2 ID : 94891119249
Option 31D : 94891119250
Option 4 ID : 94891119251
Status : Answered
Chosen Option : 3
Q58 Which of the following is India’s longest-range ballistic missile?
Ans 1. Aakash IIT
v 2 AgniVv
< 3. Naag Missile
< 4 BrahMos
Question ID : 9489114832
Option 11D : 94891119326
Option 2 ID : 94891119328
Option 31D : 94891119327
Option 4 ID : 94891119325
Status : Answered
Chosen Option : 2
Q.59 If every interior angle of a regular polygon is 144°, then the polygon has sides.
Ans X115
X212
X3 8
v 4 10
Question ID : 9489113768
Option 11D : 94891115072
Option 2 ID : 94891115071
Option 31D : 94891115069
Option 4 1D : 94891115070
Status : Not Answered

Chosen Option :




Q.60 grefrerdr FoT FROT ‘HfFEF MAET (‘Arctic Greening’) TN FFRER STer A, AHa?

s . FreTiaes aTIATT ITE
X 2. d1Ed JguuT

X = 3o o fve @or
X 4 FETERERIET ORT 9918

Question ID : 9489114815
Option 11D : 94891119259
Option 2 1D : 94891119260
Option 31D : 94891119257
Option 4 ID : 94891119258
Status : Answered
Chosen Option : 4
Q.61 Select the number from the given options, that has the same relation to the fifth number as the second and fourth
numbers have with the first and third numbers respectively.
15:51365::27 2817 04307
Ans X 1. 4123
v 2 4493
X 3. 3489
X 4. 4803
Question ID : 9489114678
Option 11D : 94891118712
Option 2 ID : 94891118709
Option 31D : 94891118711
Option 41D : 94891118710
Status : Not Answered
Chosen Option : --
Q.62 Inalist of total teachers of a school. a chemistry teacher is ranked eleventh from the top and thirty-second from the
bottom. How many teachers are there in the school?
Ans X143
v 42
X3 4]
X4 44
Question ID : 9489114677
Option 11D : 94891118707
Option 2 1D : 94891118706
Option 31D : 94891118705
Option 4 ID : 94891118708
Status : Answered
Chosen Option : 2




Q.63 If the price of sugar falls by 25%, by how much percentage must a household increase its consumption so that the

Ans

budget remains the same?

v 33;%

X2 331%
4

. 3

X 3. 332_—1%

. 2
X 4 335%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113756

94891115021
94891115023
94891115024
94891115022
Not Answered

%% 1f1 4+ tanB = 3. theny3 cotf —1 =2

Ans

v V3+1
2

X2 2v/3-1
2

X s 243+ 1
2

X 4 V31
2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113769

94891115075
94891115076
94891115074
94891115073
Not Answered




Q65 The Salt march was launched by Mahatma Gandhi in the year:

Ans 1. 193]
v 2 1930
X 3. 1928
X 41929
Question ID : 9489114821
Option 11D : 94891119284
Option 2 ID : 94891119283
Option 3 ID : 94891119281
Option 4 ID : 94891119282
Status : Answered
Chosen Option : 2
Q66  Article 368 of the Indian constitution is related to:
Ans o 1. amendment of the constitution
/< 2. election to the post of president
/< 3. federal feature of our country
/< 4 national emergency
Question ID : 9489114828
Option 11D : 94891119311
Option 2 ID : 94891119310
Option 31D : 94891119309
Option 4 ID : 94891119312
Status : Answered
Chosen Option : 1
Q.67 s
‘FIHITAT A% (Komagata Maru) 2 geaT Femit gafaa 3me?
A . R TETEsT oer
X 2 ATSTHEY ST ggdae, godl
X s
SHTET (Israel) TS (Palesting) S¥ Feoram Toall
X 4 3T Far
Question ID : 9489114820
Option 11D : 94891119278
Option 2 ID : 94891119279
Option 31D : 94891119280
Option 4 ID : 94891119277
Status : Not Answered

Chosen Option :




Ans

Q.68

cm&—ﬂ:§,mnm@+ﬂ=1m%mmMymmmmewmmHMXZymWMMym:

v 1.60° 30°
X2 70° 20°
X'3.80° 10°
X 4.50° 40°

Question ID : 9489113771
Option 11D : 94891115081
Option 2 ID : 94891115083
Option 31D : 94891115084
Option 4 ID : 94891115082
Status : Not Answered
Chosen Option : --

Ans

Q.69 Tbn Battuta, a famous Moroccan traveller visited India during the time of:

X 1. The British

/< 2. Chandragupta Maurya
v 3. Delhi Sultanate

/< 4 Mughals

Question ID : 9489114818
Option 11D : 94891119271
Option 2 ID : 94891119272
Option 31D : 94891119270
Option 4 ID : 94891119269
Status : Answered
Chosen Option : 3

Ans

Q70 WWhich of the following two regions are biodiversity hot-spots of India?

/< 1. Simplipal National Park and Satkosia Tiger Reserve

/< 2. Kaziranga National Park and Eastern Ghats

/< 3. Krishna Wildlife Sanctuary and Kolleru Bird Sanctuary
« 4 Western Ghats and Eastern Himalayas

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

9489114816

94891119262
94891119261
94891119264
94891119263

Status : Answered

Chosen Option :

4




. e ratio of the numbers of sides of two regular polygons is 1 : 2. If each interior angle of the first polygon is , then
Q.71 The ratio of the b f sides of gular polygons is 1 : 2. If each interi gle of the first polygon is 140°, th

Ans

the measure of each interior angle of the second polygon is:

K 1. 150°
X 2 170°
X 3. 140°
v 4 160°

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113773

94891115090
94891115092
94891115089
94891115091
Not Answered

Q72 pjck the odd one out.

Ans X 1. TJ
X2 VK
v 3 QD
X 4 LF
Question ID : 9489114695
Option 11D : 94891118778
Option 21D : 94891118779
Option 31D : 94891118780
Option 4 ID : 94891118777
Status : Answered
Chosen Option: 1
Q.73 Modern computers follow a set of instructions to perform any task. These instructions can be better known as:
Ans  of 1. Programs
& 2. Commands
#< 3. Guidelines
/5 4. Language
Question ID : 9489114836
Option 11D : 94891119344
Option 2 1D : 94891119342
Option 31D : 94891119343
Option 4 ID : 94891119341
Status : Answered
Chosen Option : 2




Q74 golve the following :

7+ |7+ ,‘?+m

1 1£v31
2

X2 5 o 1
2

X3 1++/30
2

v kL 29
2

Ans

Question ID : 9489113752
Option 11D : 94891115007
Option 2 ID : 94891115006
Option 31D : 94891115008
Option 4 ID : 94891115005
Status : Not Answered
Chosen Option : --

Q.75 Sohan lost 20% by selling his old fan for 1,500. At what price (in ) he should have sold it to get 20% profit?
Ans 12150

X 202,300

W 3 2,250

X 42,200

Question ID : 9489113757
Option 11D : 94891115025
Option 2 ID : 94891115028
Option 31D : 94891115027
Option 4 ID : 94891115026
Status : Answered
Chosen Option: 3




Q.76 Select the Venn diagram that best represents the relationship between the following classes.

Wood, Furniture, Chair

Ans

x 2. .

x 3. @
Question ID : 9489114696
Option 11D : 94891118782
Option 2 ID : 94891118781
Option 31D : 94891118783
Option 4 ID : 94891118784

Status : Answered
Chosen Option : 2
Q.77 Which of the following kings was sent by Aurangzeb against Chhatrapati Shivaji Maharaj?
Ans 1. Adil Shah

#< 2. Bahadurshah Zafar

+ 3. Jai Singh

/< 4 Man Singh
Question ID : 9489114819
Option 11D : 94891119275
Option 2 ID : 94891119276
Option 31D : 94891119273
Option 4 ID : 94891119274

Status : Answered
Chosen Option : 3




Q78 How will you write 2.6 vears in years, months and days?

Ans o 1. 2 years, 7 months and 6 days
7< 2. 2 years and 6 months
7< 3. 2 years, 6 months and 6 days

/< 4. 2 years, 5 months and 2 days

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114697
94891118788
94891118787
94891118785
94891118786
Answered

1

Q79 Rank rate is the interest rate at which:

Ans X 1. commercial banks lend money to the central bank
« 2. the central bank lends money to the commercial banks
< 3. the Government borrows from the central bank

/< 4. the central bank borrows from the government

Question ID
Option 11D
Option 2 ID
Option 31D

Status

1 9489114840

1 94891119359
194891119358
194891119360
Option 41D :

94891119357

: Answered
Chosen Option :

1

Q80 The face value of 8 in 758639 is:
Ans <1, 800

X 2 80

VAR

X 48000

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID
Status

Chosen Option

19489113744
194891114974
1 94891114975
194891114976
194891114973
: Answered

03




Q.81

Ans

Solve the following.

0.6X0.6x0.6+0.7%0.7x0.7 __
0.6x0.6—0.42+0.7x0.7

v 113

X215

X314

X416

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113750
94891114997
94891114999
94891114998
94891115000
Answered

1

Q.82 A question is given followed by two arguments. Decide which of the arguments is/are strong with respect to the

Ans

question.
Question:

Should different types of bowlers be included in the Indian cricket team?

Arguments:
I Yes, because different types of bowlers play different roles in a team.
II. No, because the spectators like seeing fast bowlers.

< 1. Neither I nor II is strong.
+ 2. Only Argument I is strong.
7< 3. Both I and II are strong.

< 4. Only Argument II is strong.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114682
94891118728
94891118725
94891118727
94891118726
Answered

2




Q83 Find percentage loss when cost price = 2850 and selling price = Z680.

Ans X 1. 30%
X 2 25%
X 3. 35%
v 4 20%
Question ID : 9489113755
Option 11D : 94891115019
Option 2 ID : 94891115018
Option 3 ID : 94891115020
Option 4 ID : 94891115017
Status : Answered
Chosen Option : 4
Q84 Nayi Manzil Scheme launched by the government of India is related to:
Ans % 1. Scholarship scheme for minority students.
/< 2. Prevention of child trafficking
/< 3. Leadership development of minority women
« 4 Skill training for minority youths.
Question ID : 9489114843
Option 11D : 94891119369
Option 2 ID : 94891119371
Option 3 ID : 94891119372
Option 4 ID : 94891119370
Status : Not Answered
Chosen Option : --
Q.85 Which of the following is the least number that should be added to 3496, so that the sum is exactly divisible by 2, 6, 4
and 3
Ans x 1. 4
X211
X3 15
Vg
Question ID : 9489113753
Option 11D : 94891115009
Option 2 ID : 94891115011
Option 3 ID : 94891115012
Option 4 ID : 94891115010
Status : Answered
Chosen Option: 4




Q.86 Study the given graph showing the rainfall (in mm) in three cities, i.e. Delhi, Mumbai and Chennai from the year 2000

to 2003 and answer the question that follows.

150
100
50
0

2000 2001 2002 2003

®DELHI m MUMBAI = CHENNAI

What is the average rainfall in Mumbai?

Ans X 1.90.5 mm
/A 2 87.5 mm
V'3 92.5mm
A 4 91.5 mm
Question ID : 9489114689
Option 11D : 94891118756
Option 2 ID : 94891118753
Option 31D : 94891118755
Option 4 ID : 94891118754
Status : Answered
Chosen Option : 3
Q.87 study the given graph showing the rainfall (in mm) in three cities, i.e. Delhi, Mumbai and Chennai from the year 2000
to 2003 and answer the question that follows.
150
100
50
0
2000 2001 2002 2003
B DELHI ™ MUMBAI = CHENNAI
What is the highest percentage of increase or decrease in average rainfall in a particular year in comparison to its
previous year?
Ans X1 15.5
X2 205
W3 375
X4 255
Question ID : 9489114690
Option 11D : 94891118758
Option 21D : 94891118760
Option 3 1D : 94891118759
Option 4 ID : 94891118757
Status : Not Answered

Chosen Option :




Q.88 study the given graph showing the rainfall (in mm) in three cities, i.e. Delhi, Mumbai and Chennai from the year 2000

to 2003 and answer the question that follows.

150
100

50

0

2000 2001 2002 2003

W DELHI ™ MUMBAI = CHENNAI

In which year was there the highest percentage difference (increase or decrease) in rainfall in Chennai?

Ans X710 2001

X 2. 2000
v 3. 2002
X 4. 2003
Question ID : 9489114691
Option 11D : 94891118762
Option 2 ID : 94891118761
Option 31D : 94891118764
Option 4 ID : 94891118763
Status : Answered
Chosen Option : 3
Q.89 study the given graph showing the rainfall (in mm) in three cities, i.e. Delhi, Mumbai and Chennai from the year 2000
to 2003 and answer the question that follows.
150
100
50
0
2000 2001 2002 2003
®DELHI = MUMBAI = CHENNAI
Select the option indicating the city with the highest rainfall along with its average rainfall?
Ans 1. Mumbai, 92.5
/< 2. Mumbai, 99.5
v Chennai, 97.5
X 4 Delhi, 72.5
Question ID : 9489114692
Option 11D : 94891118766
Option 2 ID : 94891118767
Option 31D : 94891118768
Option 4 1D : 94891118765
Status : Answered
Chosen Option : 3




Q.90 Among the following words, which one will come third if they are arranged as per their order in an English dictionary?

Ans

« 1. Sentimentally
& 2 Sentinel

/< 3. Sententious
/< 4. Sentence

Question ID : 9489114701
Option 11D : 94891118802
Option 2 ID : 94891118801
Option 31D : 94891118803
Option 4 ID : 94891118804
Status : Answered
Chosen Option: 1
Q.91 There are six members in a family, i.e. K, L, W, X, M and Z. Each has a car of different colour. L has a white car. W
does not have a black or yellow car. M has a red car and K does not have a blue car. Z has a brown car. Which of the
following is the colour of W’s car?
Ans X 1. Yellow
v 2 Blue
& 3. Black
X 4 Red
Question ID : 9489114702
Option 11D : 94891118805
Option 2 ID : 94891118806
Option 31D : 94891118807
Option 4 ID : 94891118808
Status : Answered
Chosen Option : 2
Q.92 Select the option in which the numbers share the same relationship as that shared by the given triad.
(15,22,29)
Ans X1 (21,41,49)
X 2 (44,67, 17)
K3 (17,42, 38)
v 4 (9,13, 17)
Question ID : 9489114693
Option 11D : 94891118770
Option 2 ID : 94891118771
Option 31D : 94891118772
Option 4 ID : 94891118769
Status : Answered

Chosen Option : 4




Q.93 Read the given statements and conclusions carefully. Assuming that the information given in the statements is

true, even if it appears to be at variance with commonly known facts, decide which of the given conclusions

logically follow(s) from the statements.

Statements:

1 Some glasses are mugs.

2 All mugs are plates.

3 No plate is a telephone.

Conclusions:

1. Some glasses are plates.

2. Some mugs are not telephones.

Ans

/5 1. Neither conclusion 1 nor 2 follows.

+ 2. Both conclusions 1 and 2 follow.
75 3. Only conclusion 1 follows.

75 4. Only conclusion 2 follows.

Question ID : 9489114675
Option 11D : 94891118700
Option 2 ID : 94891118699
Option 3 1D : 94891118697
Option 4 1D : 94891118698
Status : Answered
Chosen Option : 2
Q.94 Study the given pattern carefully and select the number that can replace the question mark (?) in it.
15§ 18 40 9 41 57 45 87 20
19 21 2
Ans - X1 42
X2 24
V'3 35
X 4 53
Question ID : 9489114703
Option 11D : 94891118811
Option 2 1D : 94891118810
Option 3 1D : 94891118809
Option 4 ID : 94891118812
Status : Not Answered

Chosen Option :




Q.95 Select the option that can replace the question mark (?) in the following series.

EC. GE. KG, ML ?

Ans x 1. JP
v 2 QK
X 3 FI
X 4 LF
Question ID : 9489114687
Option 11D : 94891118747
Option 2 ID : 94891118746
Option 31D : 94891118748
Option 4 ID : 94891118745
Status : Answered
Chosen Option : 2
Q.96 Select the number that can replace the question mark (?) in the following series.
22,4207
3 3
Ans o110
X 2 30
. 15
p QR
2
: 40
W
3
Question ID : 9489114684
Option 11D : 94891118735
Option 2 ID : 94891118734
Option 31D : 94891118736
Option 4 1D : 94891118733
Status : Not Answered

Chosen Option :




Q.97 Inthe question below is given a statement followed by two conclusions numbered I and II. You have to assume

everything in the statement to be true, then consider the two conclusions together and decide which of them logically

follows beyond a reasonable doubt from the information given in the statement.

Statement:

If A was there in XYZ cricket team, XYZ would have been the invincible team in the world.

Conclusion:

I Without A, XYZ cannot win.

I A is more talented than anyone else in the XYZ cricket team

Ans X 1. Only I follows.
+ 2. Only II follows.

/< 3. Both I and II follow.
/X 4 Neither I nor II follows.

Question ID :

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

9489114683

194891118729
194891118730
194891118731
194891118732
: Answered

Chosen Option :

4

Q.98 Out of the four vegetables listed, three are alike in some manner and one is different. Select the odd one.

Ans o 1. Onion
/< 2. Cabbage
/< 3. Brinjal
/< 4 Ladvyfinger

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114694
94891118775
94891118773
94891118774
94891118776
Answered

1




15-3+40+5%x30=23

Q.99 Which two signs are to be interchanged to make the given equation correct?

Ans x 1. = and —
A 2 +and—
X3 +and~+
v 4 —and x
Question ID : 9489114685
Option 11D : 94891118740
Option 21D : 94891118737
Option 31D : 94891118738
Option 4 1D : 94891118739
Status : Answered
Chosen Option : 4
Q.100 There are six persons. i.e. A. B, C, D, E and F sitting on a round table facing center, not necessarily in same order. D is
not a neighbour of A or B. A is second to the left of B. B is a neighbour of E and F. Who is the second to the right of D?
Ans x 1. E
X2 B
Vi A
X4 F
Question ID : 9489114699
Option 11D : 94891118794
Option 21D : 94891118793
Option 31D : 94891118796
Option 41D : 94891118795
Status : Answered
Chosen Option: 3
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